—% ¢

A —EAkE Lotk B RinEsAR%HILE
6H9H
- A | =5 | & | =& |azE B | i | 4% |aE=
Z£BEMILE —aa [ x [A3-3] x N X X
= ] 0-3 | (Pk2-9) [ 0-1 AL ] 1-3 0-2
=EAfE RIS O ™. (@) @) - O [~ X
EE | 35 | ™| 590 | 40 el IS | 1-3
= [[A3-3] X [ X O O [~
RRLS (PK4-2) | 0-5 ] 0-2 RER 2-0 3-1 e
x | O [~ O O] O
A& 1-0 | 0-4 2-0 e RiH 4-2 2-1 2-1
R KERRE
6A108 | \
RIBEE N E | | | |
EA=1:0): ] & HEH Bl dtE DRG] EER
0-1 0-0 1-0
1-0 0 [ -1 J 1 2 [ 1-3 ] 3
1| &R | 1
0-0
0-0
5 PK 3




z GRS
1 dbs
RiE o EiA
x M BEE
2-4 3 L= (4i)
X
1-2
X
1-2




